/J’ Psint -Ceost

CA=Ta *ola

R

1} A=7 o0

4 =10

l

f -l /A2 a4,
= €an (E =7
- = ") . P !

1' N éM ) - /% f

| =en(3) 7

i . : } ;
¢ ) ‘o 67‘7’ 0 /0 S

:a, Sin (B¢) +3 o5 (8¢)-Asi (8¢+0)

=//o sinld-st :/«j

7/
3J ~sint +cost  cosp- 7
4

A=Y 2+1* 500 5
R A4

‘@z
/
f= éan"/:/) .
p=bom” )=

=[1’7:5,‘,,(£+’@}

¢ 0 4
5) sin 75°= sin (30 +H$)

o o )
T $/'n 30 CosSHS + (oS 359 n S
“" l/'{t + Eo E

= 2z 2 2z :
= 4"’2:*1)4 ”
— -
L o

(o5 76° = cos((36’+4s”)

CoS 30%cosH ® —5in 305ia4S0
R L LI | %
| —

2.

2= = z
ﬁ‘v} —
| K

- p3p3-3p
4y 3,,'{7.9"&;/’)/ 6—
g, 70,8

G) Ces tes *—cos 75 °

/6S¢?78 /‘r—f_s’
~ 2 Sin / Sin /

-2 9in (20°34n atsC

ogté
s 2>
Vi

= p—

>~

'7} Cos 7{ + oS <°
15 +/S ; 78"
2 Cosl™ 5= cos

2 eoS ‘7’550530
2.4 .73
2z 2

= e

—

z

3) Sin 3‘/5'0" Sin (300‘f ‘/{0)
St 3P COS U r Cos 300%5im 5 °
AT E L
2 z z 2
'f# vz _ [ve/z
7 % o

/) cos 285° = cos (;40"-»_:/(') |

50
* cos JYocos </_r° Sin 240 S, S
- / J’ —?3 1T

- /'c/-

5.

rl



/7?_95/.4:4/ Cos 3L = Yeos 3{. -3¢cost
Cos 3¢ = Cos(2&+¢)

Z Cos 2L Cost —Sin 2b SInE
ﬁy fo y(f' \

2
only cosine i *(2cost -1 /ast — 2sintcost sint
7124“&)9‘0”1/

ZCos L - Cost —Acost sint
=3cos *¢ - cos & — 2 cost (7-¢cos 215)
Qcos P cost —Jcost * Acos St

= Yoy Pt -Fcost



